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𝑆𝑛

𝑆𝑛

𝑆𝑛

 

|𝒓| < 𝟏|𝒓| ≥ 𝟏

𝑺 =
𝒂𝟏

𝟏 − 𝒓

∑ 𝟏𝟓 (
𝟒

𝟓
)

𝒏−𝟏

⇒

∞

𝒏=𝟏

 𝒓 =
𝟒

𝟓
 < 𝟏

𝑺 =
𝒂𝟏

𝟏−𝒓
=

𝟏𝟓

𝟏−
𝟒

𝟓

=
𝟏𝟓
𝟏

𝟓

= 𝟏𝟓 × 𝟓 = 𝟕𝟓

𝟑 + 𝟒 +  
𝟏𝟔

𝟑
+ ⋯ … ..

𝒓 =
𝟒

𝟑
 > 𝟏

 

𝟎. 𝟒𝟑̅̅̅̅

𝟎. 𝟒𝟑̅̅̅̅ = 𝟎. 𝟒𝟑 + 𝟎. 𝟎𝟎𝟒𝟑+. . .

=
𝟒𝟑

𝟏𝟎𝟎
+

𝟒𝟑

𝟏𝟎𝟎𝟎𝟎
+ ⋯ 

𝒂𝟏 =
𝟒𝟑

𝟏𝟎𝟎
   , 𝒓 =  

𝟏

𝟏𝟎𝟎
 

𝑺𝒏 =  
𝒂𝟏

𝟏 − 𝒓
=

𝟒𝟑
𝟏𝟎𝟎

𝟏 −
𝟏

𝟏𝟎𝟎

=
𝟒𝟑

𝟗𝟗

𝒙 = 𝟎. 𝟒𝟑̅̅̅̅  
𝒙 = 𝟎. 𝟒𝟑𝟒𝟑𝟒𝟑𝟒𝟑 … 

𝟏𝟎𝟎𝒙 = 𝟒𝟑. 𝟒𝟑𝟒𝟑𝟒𝟑𝟒𝟑 …  

𝟗𝟗𝒙 = 𝟒𝟑 ⟹ 𝒙 =
𝟒𝟑

𝟗𝟗

𝟎. 𝟒𝟑̅̅̅̅

𝟎. 𝟔̅ =
𝟔

𝟗
=

𝟐

𝟑
𝟎. 𝟖𝟕̅̅̅̅ =

𝟖𝟕

𝟗𝟗
=  

𝟐𝟗

𝟑𝟑
𝟎. 𝟐𝟒𝟑̅̅ ̅̅ ̅̅ =

𝟐𝟒𝟑

𝟗𝟗𝟗
=

𝟗

𝟑𝟕
 

https://youtu.be/UhL-zDJzdto
https://drive.google.com/file/d/1Fdo3DaLDqozKcE2dfs54wp51cFtJo9R7/view?usp=drivesdk
https://youtu.be/sNfXFwIIG88

